XYZw=84.1998 , 88.59 , 96. 46b*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13 G
b’ = by [z 13 d
2,=[1/Xpgg 1/3=0.2191
bp=~{1/Zpgg] 3=-0.083765,,
n = D65 )
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CIELAB D65

Name and chromaticity

R4sree X=0,64 y=0,33 Be My

Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06

Device and elementary coloursy,,=88|

of the sSRGBcolour space for D65
in chroma diagram (a*pgs, b*

-120

1-000030-L0O

SE811-7A 1




XYZw=85.421 , 88.59 , 73.08 b*
a* =500 @' —a’,) Y13

b* =500 b’ - b'y) Y13

a =ay [x/y] 13

b’ = by [z 13

a,=[1/Xpge] 13=0.2191
by=—[1/Zpgg 13=-0.08376

n = D50 ., G

r120

-120 Cy4
CIELAB D65
Name and chromaticity

Ry sree X=0,64 y=0,33
Gg,sree *x=0,30 y=0,60
Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88|

Be'

b
r-120

of the sSRGBcolour space for D50 b
in chroma diagram (a*pgs, b*

1-000030-L0O

SE811-7A 1



XYZw=89.4154 , 88.59 , 57.3 b*D65
a*=500 @ -a,) Y13 4
b* =500 p' - b’,) Y3

a' =, [xiy|18

b’ =h, [z/]13

2,=[1/Xpgs] 13=0.2196,
by=-[1/Zpgg 1/3=-0.08376

n = P40 |
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*
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CIELAB D65

Name and chromaticity

Ry sree X=0,64 y=0,33

Gd,sreg X=0,30 y=0,60 B. @ 4

By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88|

b
r-120

of the sSRGBcolour space for P40 b
in chroma diagram (a*pgs, b*

1-000030-L0O

SE811-7A 1




XYZw=97.3152 , 88.59 , 31. 52b*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13
2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpge) 3=-0.083
n = A00 pf%

r120

_12!3
CIELAB D65 0
Name and (:hromatlutye
Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary colour,SYW
of the sSRGBcolour space for AOO
in chroma diagram (a*pgs, b*

13

r-120

1-000030-L0O

SE811-7A 1



XYZw=88.5907 , 88.59 , 88. 59b*
a* =500 @' —a’,) Y13 4120
b* =500 p' - b’,) Y3

a' =, [xiy|18

b’ =b, [z 13 Gy
2,=[1/Xpgd 1/3=0.2191
by=—[1/Zpgg] 13=-0. 0837(9
n = E00 ;

s
-120 ¢y ) 120
CIELAB D65

Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88,6
of the sSRGBcolour space for EOO T-120
in chroma diagram (a*pgs, b*

Be

1-000030-L0O SE811-7A 1




XYZw=86.8818 , 88.59 , 104. 7B*
a* =500 @' —a’,) Y13 4120
b* =500 p' - b)) Y13
a =ay [x/y]13 G
b’ = b, [z 13

ay=[1/Xpggl V3=0.2191
by [1/Zped U3=—0.08376,
n = Co00 .

CIELAB D65

Name and chromaticity
Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursy,,=88,6
of the sSRGBcolour space for C0O0  T-120
in chroma diagram (a*pgs, b*

1-000030-L0O SE811-7A 1



XYZ#=90.421, 88.59 , 7181 ph*
a* =500 @' —a’,) Y13 E
b* =500 p' - b'p) Y3

a =ay [x/y] 13

b’ = b, [z 13

2,=[1/Xpgg 1/3=0.219T9
by=—[1/Zpeg 1/*=-0.08376

n = P00 G0,

120

-120 ¢,
CIELAB D65
Name and chromaticity

Rysree %=0,64 y=0,33 5. @

Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06
Device and elementary coloursY,,=88|

3

of the sSRGBcolour space for POO b
in chroma diagram (a*pgs, b*

r-120

1-000030-L0O

SE811-7A 1



XYZw=86.7591 , 88.59 , 105. 3b*

a* =500 @' —a’,) Y13 4120
b* =500 p' - b’,) Y3

' = 13
a’ =ay [xly] Gy

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—{1/Z g ¥3=-0.08376,

n = Qo0 , :

CIELAB D65
Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursy,,=88,6
of the sSRGBcolour space for Q00 T-120
in chroma diagram (a*pgs, b*

Be

1-000030-L0O SE811-7A 1



XYZw=83.9954 , 88.59 , 95. OSb*
a* =500 @' —a’,) Y13
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = b, [z4]1/3 Gy
a,=[1/Xpge] 1/3=0.2191
by=—{L/Zpee|3=-0.08376;
n=D65 ,

*
Qpss
S

120 o
CIELAB D65
Name and chromaticity
Rysres x=0,64 y=0,33 Be Mg

Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06

Device and elementary coloursy,,=88|

of the sSRGBcolour space for D65
in chroma diagram (a*pgs, b*

-120

1-001030-LO

SE811-7A 1




XYZw=85.6893 , 88.59 , 72,12y,
a*=500 @ -a,) Y13 4
b* =500 p' - b'y) Y13

a' =, [xiy|18

b’ =b, [2y]1/3

a,=[1/Xpge 1/3=0.2191 ¢
by=—[L/Zpgg) 13=-0.08376
n=D50 G

r120

:
-120 Cq4
CIELAB D65
Name and chromaticity

Ry sree X=0,64 y=0,33

Gg,sree *x=0,30 y=0,60 e
Bg,sree X=0,18 y=0,06

Device and elementary coloursY,,=88|

b
r-120

of the sSRGBcolour space for D50 b
in chroma diagram (a*pgs, b*

1-001030-LO

SE811-7A 1




XYZw=90.1416 , 88.59 , 57. 09b*
a* =500 @' —a’,) Y13 1120
b* =500 b’ - by) Y3
a =ay [x/y]13

b’ = by [z} 13
ap=[1/Xpps| /3=0.2196,

by=—[1/Zpgg) 13=-0.08376 E‘*

n=P40 | | AP0 R Do5
~120%R, T ' 120

CIELAB D65 d

Name and chromaticity Mg

Rosree X=0,64 y=0,33 S

Gyerop X=0,30 y=0,60 B. @ /

Bg,sree X=0,18 y=0,06
Device and elementary coloursY,,=88,6
of the sSRGBcolour space for P40 T-120
in chroma diagram (a*pgs, b*

1-001030-LO SE811-7A 1




XYZw=98.468 , 88.59 , 31.18 b*
a* =500 @' —a’,) Y13 E
b* =500 b’ - b'y) Y13
a =ay [x/y] 13

b’ = by [z 13 i
2,=[1/Xpgg 1/3=0.2191

r120

by=—[1/Zpge] 13=-0.08 v
n = A0O 8“ Ye

A0O %**DGS

Name and chromatici

Rysrea X=0,64 y=0,33

Gysree X=0,30 y=0,60

By.srea X=0,18 y=0,06

Device and elementary colour,SYW %

IELAB D65
Ci gﬁ.

b
r-120

of the sSRGBcolour space for AOO
in chroma diagram (a*pgs, b*

1-001030-LO

SE811-7A 1




XYZw=88.5818 , 8859 , 88.590%
a* =500 @' —a’,) Y13 4120
b* =500 b - by) L3

a' = a K]

b’ =b, [z 13 Gy
a=[1/Xpeg 13=0.2191
b=—(1Zp4 1%=-0.0837
n'= E00 , e
-120 ¢y ) 120

CIELAB D65
Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursY,,=88,6
of the sSRGBcolour space for EOO T-120
in chroma diagram (a*pgs, b*

Be

1-001030-LO SE811-7A 1




XYZw=86.1862 , 88.59, 102.8B%,
a* =500 @' —a’,) Y13
b* =500 ' - b'y) Y3
a' =ay [xy] 13

b’ = by [z 13 Ca
2,=[1/Xpgg 1/3=0.2191
by=—[1/Zpgg 13=-0.08376;,

Ry

*
Qpss
S

n = C00 )
120 120

CIELAB D65

Name and chromaticity 5

Rysree %=0,64 y=0,33 e Mg

Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06

Device and elementary coloursY,,=88|

of the sSRGBcolour space for CO0
in chroma diagram (a*pgs, b*

-120

1-001030-LO

SE811-7A 1




XYZ#=90.6941 , 88,59, 71.98p*
a* =500 @' —a’,) Y13 E
b* =500 p' - b'p) Y3

a =ay [x/y] 13

b’ = b, [z 13

2,=[1/Xpgg 1/3=0.219T9
by=—[1/Zpeg 1*=-0.08376

n = P00 GO,

120

-120 ¢,
CIELAB D65
Name and chromaticity

Rysree %=0,64 y=0,33 5. @

Gy,sree X=0,30 y=0,60
Bysree X=0,18 y=0,06
Device and elementary coloursY,,=88|

3

of the sSRGBcolour space for POO b
in chroma diagram (a*pgs, b*

r-120

1-001030-LO

SE811-7A 1



XYZw=86.5081 , 88.59 , 104. Qb*

a* =500 @' —a’,) Y13 1120
b* =500 ' - b'y) Y3
a' =a [x/y]13 Gy Yd

b’ = by [z} 13

a,=[1/Xpggl V3=0.2191
by=—{1/Z g ¥3=-0.08376,,

n = Qo0 , :

CIELAB D65
Name and chromaticity

Rysrea X=0,64 y=0,33
Gysree X=0,30 y=0,60
By.srea X=0,18 y=0,06
Device and elementary coloursy,,=88,6
of the sSRGBcolour space for Q00 T-120
in chroma diagram (a*pgs, b*

1-001030-LO SE811-7A 1



